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CLASS 10 MATH TEST PAPER 10 (MCQ)
Class 10 - Mathematics

Time Allowed: 40 minutes Maximum Marks: 20
1. If one zero of the polynomial (3x2 + 8x + k) is the reciprocal of the other, then value of k is [1]

a) —y b) 3

c)-3 d) 5

2. If one of the zeroes of the quadratic polynomial 14x% - 42k2x - 9 is negative of the other, then the value of k is [11

a)3 b) 0
o1 d) 2

3. If a and S are the zeroes of the polynomial ax? + bx + c, then the value of % + % is [1]
Do b) 2
Q=2 d) £

4. (mi?a — 5111129> is equal to: [1]
a) -1 b) sec29
©) sin? 6 d1

5. Ifsinf = %, then sec 0 is equal to: [1]
2 55 b) o=
03 d) ¥

6. Ifcos(a+ B) = 0, then value of cos (aTH?) is equal to: [1]
a) V2 b) %5
03 d) 0

7. A solid spherical ball fits exactly inside the cubical box of side 2a. The volume of the ball is [1]
a) %71’&3 b) %7‘('3,3
0) 4 ma’ d) £ rma?

8. A solid sphere is cut into two hemispheres. The ratio of the surface areas of sphere to that of two hemispheres [1]

taken together, is:
a)3:2 by1:1
0)2:3 d)1:4

9. A sphere of diameter 18 cm is dropped into a cylindrical vessel of diameter 36 cm, partly filled with water. If the [1]

sphere is completely submerged then the water level rises by

a) 4 cm b) 5cm
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¢) 3cm d) 6 cm

10.  Find the value of p, if the mean of the following data is 20.

Xj 15 17 19 20 +p 23
fi 2 3 4 5p 6
a) 2 b) 4
c) 10 d)1

11.  If the mean and mode of a data are 24 and 12 respectively, then its median is:
a) 18 b) 25
c) 20 d) 22

12. If the mean of 6, 7, x, 8, y, 14 is 9, then:
a)x-y=21 b)x+y=19
ox+y=21 d)x-y=19

13.  The distance between two parallel tangents of a circle of diameter 7 cmis:
a) 14 cm b) 28 cm
c) 7 cm d) % cm

14. A chord of a circle of radius 10 cm subtends a right angle at its centre. The length of the chord (in cm) is:

N__B

a) % b) 10v/3
c) 5v/2 d) 104/2

15.  Inthe given figure, the perimeter of AABC is:

P ——
D P

a) 15 cm b) 30 cm
¢) 60 cm d) 45 cm

16.  Assertion (A): Polynomial x2 + 4x has two real zeroes.

Reason (R): Zeroes of the polynomial x2 + ax (a 7 0) are 0 and a.

a) Both A and R are true and R is the correct b) Both A and R are true but R is not the

explanation of A. correct explanation of A.
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17.

18.

19.

20.

¢) A is true but R is false. d) A is false but R is true.

Assertion (A): For 0 <8 < 90°, cosec 8 - cot 8 and cosec 8 + cot 8 are reciprocal of each other.

Reason (R): cosec2f - cot?d = 1.

a) Both A and R are true and R is the correct b) Both A and R are true but R is not the
explanation of A. correct explanation of A.
¢) A is true but R is false. d) A is false but R is true.

Assertion (A): Two identical solid cubes of side a are joined end to end. Then the total surface area of the

resulting cuboid is 10 a2.

Reason (R): The total surface area of a cube having side a = 6 a2.

a) Both A and R are true and R is the correct b) Both A and R are true but R is not the
explanation of A. correct explanation of A.
) A is true but R is false. d) A is false but R is true.
Assertion (A): The arithmetic mean of the following given frequency distribution table is 13.81.
X 4 7 10 13 16 19
f 7 10 15 20 25 30
_ @i
Reason (R): z = %
a) Both A and R are true and R is the correct b) Both A and R are true but R is not the
explanation of A. correct explanation of A.
¢) A is true but R is false. d) A is false but R is true.

Assertion (A): In the given figure, XA + AR = XB + BR, where XP, XQ and AB are tangents.

=
i

4

Reason (R): A tangent to the circle can be drawn from a point inside the circle.

a) Both A and R are true and R is the correct b) Both A and R are true but R is not the
explanation of A. correct explanation of A.
¢) A is true but R is false. d) A is false but R is true.
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